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Question Number : 1 Question Id : 1017173681 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Orientation : Vertical
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Question Number : 3 Question Id : 1017173683 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 5 Question Id : 1017173685 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If (a. B. v) 1s the solution of the system of simultaneous linear equations given by
3x+4y—-5z=—6,2x+3y—-4z+7=0.4x -2y +z=9thena + 3 2y =
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If A and B are two matrices given by
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then, the value of |Adj (AB)|1s
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Question Number : 7 Question Id : 1017173687 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 8 Question Id : 1017173688 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 9 Question Id : 1017173689 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If -=x+iy and if the point P in the Argand plane represents =. then the locus of P satisfying
the equation |z —3i|+ |-+ 3i|=10 15
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Question Number : 10 Question Id : 1017173690 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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If o, B are the roots of the equation x> — 2x + 4 =0 and forany neN. a” + " = kcos
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Question Number : 11 Question Id : 1017173691 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 12 Question Id : 1017173692 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 13 Question Id : 1017173693 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If ., B, y are the roots of the equation x* — 6x> + 11x + 6 = 0. then Zaz B+ ap 2=
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Question Number : 14 Question Id : 1017173694 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the roots of the equation x* + 3px? + 3gx — 8 = 0 are in a geometric progression.,
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Question Number : 15 Question Id : 1017173695 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The number of different signals which can be given from 7 different coloured sheets, taking
one or more at a time 1s
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Question Number : 16 Question Id : 1017173696 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



If the number of subsets with 8 elements from the setA= {a,.a,.a
times the number of such subsets containg a,. thenn =

5@}, n>8, isfive

A={a;.a,a; ...a },n>8 308 $H0& &) 8 Horesten e &H S dovg, a,

5is
@ 08 wd) wirodd DD DoPgEy Dy 0L €08, n =

Options:

-
5-‘
1 2 1

Question Number : 17 Question Id : 1017173697 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 18 Question Id : 1017173698 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The coefficient of x2 in the expansion of (1+ x)° (8—x) 31s
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Question Number : 19 Question Id : 1017173699 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The sum of the rational terms in the expansion of («E +33 ) 1S
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Question Number : 20 Question Id : 1017173700 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 21 Question Id : 1017173701 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 22 Question Id : 1017173702 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 23 Question Id : 1017173703 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 24 Question Id : 1017173704 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If o, B are the solutions of the equation
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Question Number : 25 Question Id : 1017173705 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If x=1log, cot[% +6 } where ‘9‘ < % then sinh x =
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Question Number : 26 Question Id : 1017173706 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In AABC.1fA:B:C=5:1:6thenab;c=
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Question Number : 27 Question Id : 1017173707 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In any triangle ABC
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Question Number : 28 Question Id : 1017173708 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 29 Question Id : 1017173709 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The points with position vectors 7+5b .7 —b and 7+ kb are collinear
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Question Number : 30 Question Id : 1017173710 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

IfA(4.7.8). B(2.3.4)and C(2. 5. 7) are the position vectors of the vertices of a triangle
ABC and if the internal bisector of | 4 meets BC at D then AD =

a8 |@ebeo ABC o) %qlme; a;é Dbden A4, 7, 8). B(2. 3. 4) S0bosn C(2.5.7)
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Question Number : 31 Question Id : 1017173711 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Given g=27 +j -2k and p =7 +7. If ¢ isavector such that a-c=[cl.c-al= 2.2
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Question Number : 32 Question Id : 1017173712 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If mn a right angled triangle ABC. the hypotenuse

E‘ = p then

AB.AC+BC-BA+CA.CB=
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Question Number : 33 Question Id : 1017173713 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Let 7=27 +7 —k and b =7 +3k .

If ¢ is a unit vector. then the maximum value of [ﬁ b F} 1s
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Question Number : 34 Question Id : 1017173714 Display Question Number : Yes Single Line Question Option : No Option
Orientation * Vertical

Leta=4i +55 = —kb=7-4j+5k.¢ e=37T+7-k andlet @ be a vector perpendicular

toboth 7 and p suchthat &-¢ =63.Then & =
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Question Number : 35 Question Id : 1017173715 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Let a and b be two real numbers. If the arithmetic mean and the variance of a. 5. 8. 5 and
10 are respectively 6 and 6.8 then an ordered pair (a. b) =
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The mean deviation from the mean of the data given below is

Marks: 10 15 20 25 30

Number of students: 2 4 6 ] 5
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Question Number : 37 Question Id : 1017173717 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Three faces of a fair die are yellow. two faces are red and one face is blue. If the die 1s
tossed 3 times. then the probability that the colours vellow, red and blue appear is (need not
be in that order)
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Question Number : 38 Question Id : 1017173718 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A college student has to appear for two exanunations A and B. The probabilities that the

2 3

student passes in A and B are ; and 1 respectively. If it is known that the student passes

at least one among the two examinations. then the probability that the student will pass both
the examinations 1s
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Question Number : 39 Question Id : 1017173719 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



If X is a random variable with the following probability distribution
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Question Number : 40 Question Id : 1017173720 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

6 coins are tossed 320 times. The probability of getting 5 heads 2 times is

6 B50e 320 rd) IHETHTEM. B THO D S5 e 2 P SEtB dogrdgd




Question Number : 41 Question Id : 1017173721 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A(2.3). B(3.-5) are two vertices of AABC. If the centroid of the AABC moves on the line
2x +y—2=0. then the locus of C 13

A(2.3).B(3.-5) en AABC G308), Bocd 3oen. AABC G Sopderdo 2x+y—2=00m
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Question Number : 42 Question Id : 1017173722 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Let A=(2.0)and B=(6.4) be two points. If AB is rotated about A through an angle of 45°
in the negative direction. then the co-ordinates of B after the rotation are
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Question Number : 43 Question Id : 1017173723 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If a straight line passing through the point P(3. 4) makes an angle ) with the X-axis and

meets the line 12x + 5y + 10 =0 at Q. then the length of PQ 15

= T
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Question Number : 44 Question Id : 1017173724 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A(3.-4)1savertex of AABC and 3x +4y— 18 = 01s the perpendicular bisector of the side
AB. If C=(6, 3) then the centroid of the triangle is

AABC § A(3,-4) &8 365w, g9z20 AB 8 o008 H90Es B HAEG0 3x+4y—18=0.
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Question Number : 45 Question Id : 1017173725 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If p and ¢ are the lengths of the perpendiculars from the origin to the straight lines
v seco + v coseca = 10 and x coso —y sino = 10 cos2a. then 4p* +¢° =

x seca + y coseca = 10 0005w x coso —y sina = 10 cos2a S5$0pod Soredohd)
$50%) eoaEPoTen p, g wond 4p +¢* =
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Question Number : 46 Question Id : 1017173726 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If P is the set of all real numbers o such that the product of the lengths of perpendiculars

} b = - 1. ) 2
from (c. 1) to the pair of straight lines 3x* + 7xy + 23 = 0 is — then the sum of the

elements in P 1s
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Question Number : 47 Question Id : 1017173727 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If two of the lines represented by 2x° +x?y +1° = 0 are mutually perpendicular. then the
slope of the third line 1s
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Question Number : 48 Question Id : 1017173728 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The orthocentre of the triangle formed by the lines 2x2 —3xy +12=0.x+y=11s
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Question Number : 49 Question Id : 1017173729 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A point which lies on the circle passing through the points (1. 1), (6. 0). (-2. 2) 15

it
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Question Number : 50 Question Id : 1017173730 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Let the tangents drawn from P(—1. —1) to the circle % + 32 — 2x — 4y — 4 = 0 touch the
circle at the points A and B. Then the area of the triangle PAB (in square units) 1s
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Question Number : 51 Question Id : 1017173731 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the chord of contact of P(x,. y;,) with respect to the circle x* +17 = ¢* meets the circle at

A and B:; and if |[AOB = 90°. then i + 3{ =
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Question Number : 52 Question Id : 1017173732 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The point of concurrence of the polars of the variable point (27, t—4). t € & with respect
to the circle x> +32 —4x— 6y +1=01s
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Question Number : 53 Question Id : 1017173733 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ABC 1s a triangle and the radical centre of the circles with AB. BC. CA as the diameters is
(—6.5). Now ifA=(3.2).B=(2. 1) then C =

ABC 2,8 |@gba230 $H8050 AB. BC. CA b argddnenn §HAS SygSne Siresodsn
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Question Number : 54 Question Id : 1017173734 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



If the cosine of the angle between the two circles x> + 3% + 2x + 4y — 3 = 0 and

x> +32+2kx—2y—-1=0is
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A=(=2.0) and Pis a point on the parabola y> = 8x. If Q bisects AP and the locus of Q is a
parabola. then its focus is

A= (-2.0) 50030 y? = 8x HordeoHo P ed £ AP 9 Q DJoGepodd T,
20030 Q DoMNEIN HTHWoHIB, & Hodwohdn SN, TH
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Let S be the focus of the parabola y* = 4ax and PQ be a focal chord such that SP= o and

SQ=a" Then l+i,=
a o

Sordeoo Yy =4ax § S8 $Hdcsn SP =0, SQ = o' wakbghinym od af Tferg

¥ . 1
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The length of the latus rectum of 9x* + 25)* — 90x — 150y + 225 =0 is

Ox? + 252 — 90x — 150y + 225 = 0 Bws), 8 wo2dn FEDH
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Let C be the centre ofan ellipse and PQ be a chord of it with |[PCQ=90° | IfR is the point
of intersection of the tangents to the ellipse at P and Q then R lies on

o8 OFSFosss C Soo =l ords PQ eferg whsr, PCQ=90° wd e8oa.
P.Qo 3¢ ﬁf‘:ag:_ F08 ANS HYGOPe Pods Doth R wond wiyd R HID eotnod
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The asymptotes of a hyperbola are parallel to 2x+ 3y =0 and 3x + 2y = 0. The equation of
that hyperbola whose centre is at (1. 2) and passing through (5. 3) is

28 ¥ JHordeoHo BwE wdod NEPYen, 2x + 3y =0, 3x + 2y = 0 vl S6E0POS
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In the triangle with vertices A(3. 2. 0), B(5. 3, 2) and C(-9, 6.—3), the bisector of |B4C
meets BC at D. The coordmates of D are

A(3.2.0). B(5. 3. 2). C(-9, 6. -3) &% Joreorr o (G#hzoeY, |BAC H5083906S [o})
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If the direction cosines of two lines are such that 2/ +m +2n=0and 37+ Sm? - 11#* =0,
then the angle between the two lines is

Ooch Bpe 68 &) 21+ m + 2n =0 36050 32 + 5m* — 11n* = 0 wchgenod « Dok
0o gy §easn
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A plane passing through the points (2. 3. 5) and (3. —5. —7) is perpendicular to the plane
x—y+z=1. Apoint that lies on the plane. among the following is
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If im— =/ .lim——Ilogx =m . then a cubic equation whose roots are 5/, m and 1. 1s
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The derivative of &> sin4x with respect to x. is
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y=acosx+(b+2x)sinx = y"+y=

|
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2Cosx
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At any point for the curve 317 = (x + 5)°. if ST represents the length of the subtangent and

SN represents the length of the subnormal then 9(ST)* =
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Let a kind of bacteria grow following the function /() = ¢*. t given in seconds. If the rate of
erowth of the bacteria after t, seconds is 4000/second. then t,=
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The value of ¢ for which the Lagrange's mean value theorem is applicable for the function
fx)=x(x+3)(x—2)mn[-1, 4]. 13

[-1. 4] wosdoess® f(x) = x(x + 3) (x — 2) HDo5rd8 Brod gy Dend HrrodSn
w5d000 wchgodd SIS ¢ Jend
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Question Number : 71 Question Id : 1017173751 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The radius (in cms) of the right circular cylinder of greatest curved surface area which can
be inscribed in a given cone with radius 10cm 1s
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j[Jtanx +JCOtx} dx =

Options:
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dax =
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The differential equation corresponding to the family of circles given by (x—a)> + (y—b)* =4,
where a and b are parameters. is
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: av :
The general solution of cos” x rf_ +y=tanx 15
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2 dv
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Orientation : Vertical

where “V" 1s applied voltage

The cwrent in a diode 1s given by the equation I:(rel':”:"j‘i“'r"T — 1)

in voltand “T" is absolute temperature in kelvin. A student measures the current as 11 mA at

300K. If the error in measuring voltage is +0.01V. error in the value of current in mA is
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A stone is dropped from the top of a tower of height h = 60 m. Simultaneously another
_ , , . . ... 2h

stone 1s projected vertically upwards from the foot of the tower. They meet at a height —
3

from the ground level. The initial velocity of the stone projected upwards is (g = 10 ms™).
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Question Number : 83 Question Id : 1017173763 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A body is projected at an angle of 45° with the horizontal with a velocity of 6042 ms™.
Then the angle made by its velocity with the horizontal after 6 s is

o8 3209%0 6042 ms! 3K50S® §8: $57087A8 45° Fos® (HEKo DT, BoD
6 s Soxd 88208 W I TR §wo
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The top of a smooth inclined plane of length 20+/2 mis connected to the edge of a well of

diameter 40 m making an angle 45° as shown in figure. A body i1s projected along the
inclined plane with a velocity “u’. If the body crosses the well without falling in it then the
minimum value of ‘u’ is (g= 10 ms=)
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A small bead of mass 108 g slides without friction along a semicircular wire of radius
10 cm that rotates about a vertical axis at a rate of 10v/2 rad s~ as shown in the figure. The

value of 6 for which the bead will remain stationary relative to the rotating wire  1s
(g=10ms2)
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A body of mass 5 kg is placed on a rough horizontal surface of coefficient of static friction
| , . . .

—. The least pulling force to be applied on the body at an angle 45° with the horizontal to
3

slide it, is (g =10 ms™)
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A simple pendulum of length g meter with a bob of mass 3 m 1s hanging freely from a
rigid support. A bullet of mass :111‘ is fired with a velocity 50 ms™! from the ground at an
angle 6" with the horizontal. When the bullet 1s at 1ts highest point of its trajectory, it
collides head on with the bob of the pendulum and gets embedded in the bob. After

collision. if the pendulum moves through a maximum angle of 120°, then the value of *6° 1s

(g=10ms>)
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The kinetic energy of a particle moving along a straight line is proportional to the time *t’
of its travel. Then its acceleration is proportional to
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A ball of mass 2 g moving with a velocity of 2 ms™ collides with another ball of mass
8 g which 1s at rest and comes to rest after collission. Then the coefficient of restitution 1s

oy
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A hollow sphere rolls down a parabolic path ABC from a height ‘h’ as shown in the figure.
Portion AB of the path 1s rough while BC 1s smooth. The height raised by the sphere in BC
15
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Two particles executing SHM along a straight line have same amplitude *A’ and time period
‘T". At t=0. one particle is ata displacement +A and another is at a displacement —— and

i

they are approaching towards each other. They cross each other after a time.
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The required percentage increase in the energy of the earth’s satellite to shift it from an

o ar
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3r )
a8 & e Sgrg argarddoods I ook 3 D8 by TR Y8Y" @ldd8l0ih

wode FEo

Options:

1 16.67%

—
3%

ad

20.

a

-



oy
oy
o
-
e
Q‘-\.

(]
o
(]
L )
o
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A uniform steel rod of mass 1.8 kg and length 0.8 m 1s hung from a nail with the help of a
steel wire of area of cross-section 0.01 mm? and unstretched length of 1 m as shown in the
figure. The centre of mass of the rod lies vertically below the nail. The increase in the
distance between the centre of mass of the rod and the nail due to stretching of the wire as
the rod hungs 1s min.

(Young’s modulus of steel =2x10M Nmi—2 and acceleration due to gravity = 10 ms
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A number of small water droplets of surface tenston T . each of radius ‘r” are combined to
form a single drop of radius ‘R’. If the released energy is converted into kinetic energy.
then the velocity acquired by the bigger drop 1s (p - density of water)
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2 kg ofice at—20 °C 1s mixed with 5 kg of water at 20 °C. Final mass of water formed 1s
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Three conducting rods AB. BC and BD made of same material and same cross section are
arranged as shown in the figure. Temperatures at the points A. D and C are maintained at
20°C. 90°C and 0°C respectively. The ratio of lengths of BD to BC when there 1s no heat

flow in AB. is
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3
: ; _aT .
A gas 1s governed by an equation V =5 where P, V and T are pressure. volume and

temperature of the gas respectively and ‘a’ 1s a constant. If the temperature of the gas 1s
doubled at constant pressure then the workdone by the gas is
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For 1 mole of an ideal gas. during an adiabatic process. the square of the pressure of a gas
is found to be proportional to the cube of its absolute temperature. The specific heat of the
gas at constant volume is (R is universal gas constant)
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200 cc of an ideal gas (y=1.5) expands adiabatically. If the rms speed of the gas molecules
becomes half of the initial value. the final volume of the gas is

200 ccs&Gaing (Y= 1.5) 2FHE SE0S” argFadgdd. T7ddn wendo Bwg), ms

58 FO JedHS” So wowd, TANYH D) 6 PIL0Er@0

Options:

; 900 cc
5 1600 cc
’ 2700 cc

3200 cc
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Orientation : Vertical

56 tuning forks are arranged such that each fork produces 4 beats per second with its
previous one. If the frequency of the last fork is twice that of the first. the frequency of
19% fork is

B8 HBodo T Jwod HBLoEDINS wElE 4 IdyodTwd ;36363&.:@;;_:’?
56 fHBdomod wlonlh. VI8 HBEodD BnE), FE:PSgB0 I0dd HBLodo
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Options:

292 Hz
, 302 Hz
5 272 Hz
312 Hz
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A closed pipe 1s m resonance with a tuning fork at 27 °C when its length is 20 cm. If the
pipe 1s to be in resonance with the same tuning fork at 7 °C then the change in the length of
the pipe required 1s nearly

20 cm FEHRe SordE FEHSs 27° C 58 uf HBEEINS VHTEENS" &8,
& PRS0 08 BOG0ESINS" 7°C I8 o E5nS” Gomreod MLSL FEYHS” VoIS
Sy Bosdorr

Options:

1 1 mm

7 mim

’ 5 mm

A 13 mm
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The distance between an object and 1ts real image formed by a lens is “D’. If the magnification
is ‘m’, the focal length of the lens is

50090, BLEo Jod INES T Jz PeDowrds HEgirdo D v ¥ eddso
‘m’ sond., T TrEgosso
Options:

m-—1

)D
111
mbD
m-+1
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m-
mbD
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9 (m+1)
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In a diffraction pattern due to a single slit. the angular width of central maxima becomes

half when the wavelength of the light used 1s changed from A to 7000 .[SL . Then the value of
A 1S

208 DO DSLS P50t EHArAoDS 508 Sdoff Bozgd) A $108 7000 3 o 570y
Sofat MoRn S'dol Jdeny Bo wonds. ©wsd A dend

Options:

3500 &
l.

, 42004
, 5000 A
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Three concentric spherical metallic shells A. B and C ofradita=7 cm. b=17 cimand “¢’
(a<b<c) have surface charge densities 6.—c and ¢ respectively. If A and C are at the same
potential. then the value of *c” 1s

Doy 8 Bo Fesmd &N §6ddwen A, B Socin C. Sng), argarddoey $8dm
a=7cm b=17 cm %8s ‘¢’ (a<b <c) o8 L0080 ¢I¥ Foden HHIT O,
—0 508050 0. A S0k C §hssnen o PBIHS E0n &), Tggsn ‘¢ dews
Options:

| 20 cm

10 cm

L2

34 cm

24 cm

Question Number : 105 Question Id : 1017173785 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



A charged bead is sliding freely through a string held vertically under tension. An electric
field is applied parallel to the string so that the bead stays at rest at the middle of the string.
If the electric field 1s switched off momentarily and switched on again. then

ALY T S5588° PordOohbs w8 o8 Jowd ol 8338 Fo efHmr  Bobs
G, So@8 JVirodor wf Jhgd FPHwd BHBod & P SoGs HEgd’
Qo PEST woddin FT. Ay TEBL Ee¥orr FoNod IoLE 88 wHIed
Options:

the bead falls off momentarily and then stopped

G EbBom (Bobs b obd e

the bead moves downwards and then moves upwards

g |obs =0 :l:-’g;:‘, 28 Hdowl

the bead moves downwards with constant acceleration

TR Y Eeleadng” Bobl =t

the bead moves downwards with constant velocity

T @0 SHS00E* BobE =&
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Three mfinitely long charged non-conducting sheets are placed as shown in the figure. The
electric field at point “P’ is (o - charge density. 4 - permittivity of fiee space)
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Five identical conducting plates. each of face area A are placed parallel to each other with
a separation of ‘d’ between two adjacent plates as shown in the figure. The plates M and N
are given charges Q, and Q, respectively and the remaining plates are neutral. If the outermost
plates are grounded. the potential difference between the plates M and N 1s

2,87.8,8 AdopdTogo e i HEHSrS Hosod, Jod 6D dHofe gy Srdo d’
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When two cells of emfs E; and E, and different internal resistances are connected in

series with an external load resistor. the current through the load 1s 5 A. If the polarity of

. , E
cell of emf E, is reversed then the current through the load 1s 2A. Then _El =
2

Ej. E; ddogdanyof aorw, 3638 wodd)Trw fo Sokh dirod EB8ST af amidy

8 ATTRAE BOVIYE TAhom 5 A ddogd Ddrnda. Ey ﬁéagéaﬁthﬂé 2ol Ho
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In a potentiometer experiment, when a cell i the secondary circuit is shunted by a resistance
‘R’. balancing length is ‘L, . On doubling the shunt resistance. balancing length increases
to ‘L,". Internal resistance of the cell 1s

PEISTDLE (HAETHeS® Tadochod® o werdd R’ A6 Qotw DY, dodod
&y ‘L. Dotw TR Bfo) DIIYHE Sodheod FEH Ly § OASE. wowd
D0 wodd AGGo
Options:
2R(L,-L,)
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Match the following:

List-1 List-2
a)  Flemings left hand rule e) direction of induced current
b)  Flemings right hand rule f)  south pole
¢) Clockwise current g)  mnorth pole
d) Anticlockwise current h) direction of force
2383 aindn:
rdHee - 1 erdee - 2
a) POA IEHVE OGD ) (008 Igs HTT &F
b) ?_,:?S'.ljoﬁ 808688 Joldd f) &&= fﬁ&fm

C) $Bg DBRS Baio g) &85 Gydo

174

d) ©ddSg dogd Hairo h) = &%

The correct answer is
DO HEP RSB0
Options:
a-h: b-e: c-f: d-g
1.

a-e. b-h: c-f: d-g

2

a-g: b-e: ¢c-f. d-h

3



. a-h: b-e:c-g: d-f
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A magnetic field is applied on an electron moving with a velocity of 107 ms™ at an angle
of 30°. Then the time period of revolution of the electron in a circular path of radius
2mis

107 ms™! 3K08® $OoB 2.8 JoTS P 30° Fwod® o8 eI o8 FE W) BRFHODT .

Ok & Jogs 2magPrdo do HEFE S Srfod’ S0 TR LOFHm BIES Todn

Options:
5.5x107% ¢

7.0x1077 s

L-2

2.5%10 s

3.5x1077 s
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Assertion (A) :  Electromagnets are made of soft iron

Reason (R):  Coercivity 1s small for soft iron
Inso (A): QBT 0870 DEI R0HNS TR

w0 (R): E) D30 JBTE S8 S
Options:

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A) 00050 (R) oo Bodkr 5382 So8ai» (A) & (R) $88 2580

Both (A) and (R) are true and (R) is not the correct explanation of (A)
(A) S08ciw (R) e Bodae é@éﬁﬁj H08as0 (A) & (R) ﬁ@r& ot 570

(A) 1s true. but (R) 1s not true
(A) 8358 570 (R) 5358 57k



(A) 1s not true. but (R) 1s true

(A) 358 5= 50 (R) &858
4
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A circular loop made of thin copper wire of mass ‘m’ is placed 1n a uniform magnetic field
such that the plane of the loop is perpendicular to the magnetic field. If *d” and “p” are the
density and resistivity of copper respectively and the magnetic field varies at a constant

dB , : .
rate of I then the induced current in the loop is
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Anemf E =6 cos 6000t volt is applied to an L-R circuit of inductance 4 mH and resistance
7 2. The amplitude of the current in the circuit 15

4 mH [ﬁ:«dééﬁgo S08c8n T Qe 36880 8OAN 2.8 L-R S0c5>»d8 E = 6 cos 6000t f,.-t’gﬂ
QTR BHPeNT . Buwd & ISV JBS WTT Fodd Hoe

Options:

1 0.24A
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L2

0.54A
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, 084A
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A plane electromagnetic wave of frequency 25 MHz travels in free space along the

X-direction. At a particular point in space and time the electric field is E = 6. ?,J Vil
Then the magnetic field at that point 1s

?&ugﬂ‘:]uéo‘“@uﬁ X-980 HFS" [PIIrdiyd) w8 ddde Jehgdabar od ddof DS:YSgaw0
25 MHzZ ©080°$0&° .8 I8H Dok $r005n stobn $¢ J8g8sgo E=63] vir?
Bond & Dot I wohdod FBo Jend

Options:

2.1x10°8k T

21x108k T

21%10°°§T

2.1x1087 T
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de Broglie wavelengths associated with a proton and an electron are in the ratio 2:1. Their
stopping potentials are approximately in the ratio of

@FFere D0ddn Jogoo B, GF'H Efoidorge 211 gS &o8 T8 JIEEE
>BIGHS®

Q8 ardom

Options:

I_II:Jﬁ
ﬂ.\/@'.l
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The radius of the innermost electron orbit of hydrogen atom is 5.3x107! m. Then the ratio
of radii of the orbits of n =2 andn=3 is

TERS HESrn0 20888 Jogs §y agrdo 5.3x107 mesons n=2 So86c50 n=3
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Options:
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Two radioactive materials Y; and Y, mnitially contain same number of nuclei. Their decay
constants are 9 A s and 6 A s7! respectively. The time after which the ratio of number of

undecayed nuclei of Y; and Y, becomes — is
e e

Y5805 Y, Bod BEBrard 8 Horddnes 3ndh &8 Sopgd® BodEsnes 8h .
T8 LI HorodBwen 3K IAs 150050 6AsL Y 5085w Yoo Gwg) §oodm
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Options:
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In the given logic circuit A=1 and B =0. The values of Y; and Y, are respectively.

-

2S oref Joood” A=1508050 B=0wond Y H00diw Y, dwodes Sdm

e
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Options:
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A TV tower has a height of 150 m. If the population density around the TV tower is
10% k=2 then the population covered by the tower is (Radius of the earth, R =6.4x10%m)

29

28 TV 5% a8 150 m o héar ad Fogd 10° km? wond o widh $85S°
2Ty (& asFrdo R=6.4x10°m)

Options:

60.288 lakh
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The ground and first excited state energies are Eq and E, respectively. Which pair of species
has same energy? [Note that energy is indicated in the bracket].

D8, BnE »d2SRS Fged 56058 E; 500050 By D 2ok ardooss 575 4§
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08000, (7835 980 HDrdowrdnd fdddotod)
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Options:

1 H(E)). Li”" (Ey)



He' (E,). Be* (E,)
3 He™ (E,). Li* (E,)

, H(E»). Be™"(Ey
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The kinetic energy (in J) of a particle of' mass 4.5<107 kg having a wavelength of 1000 nm
is: (h=6.62x107*Ts)

4.5x103 kg (854078 S08030 1000 nm S$60r3ggo o w8 Sewo (824§ (J 057
(h=6.62%10247T5)

Options:
2.43x10724
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Arrange the following oxides in the increasing order of their basic nature

Boh =8y 8 g°d dgardo 0N (E00e® wdadyam

ALO, KO PO, Mg
(a) (b) (c) (d)

Options:

-2
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If the dipolemoment of H,S, NH;. NF; and BF; are 0.95D, 1.47D. 0.23D and 0.0D
respectively, the molecule that has trigonal planar structure is :

H,S. NH;. NF;. BF;  @g(god grsoseen 56dm 0.95D, 1.47D. 0.23D. 0.0D wond &

|88 0d0Ege Jomeo Ho weand) !
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Identify statement (s) which is (are) not correct from the following
a) NH;and H;O" are isostructural

b)  CIF;has T-shape

¢) O,molecule is paramagnetic

d) Bond order of N,"ismore than N,

8ol 565" HB0H DSTea(en) 57AB(D) Hiodhdn.
a) NH;S00050 H;OTen 23 072205 $DA Gr0Lron
b) CIF;8 T 58 o

¢) O,=mHd aroe wobam o Heerdo Hed

d) N, =o¢E50 N, 808 I8y 3

Options:

a.d
l.
b.c

g A
d

L2
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When 2g of a gaseous substance A is introduced into an mitially evacuated flask at 25°C.
the pressure is found to be latm. 3g of another gaseous substance B is added to it at the
same temperature and pressure. The final pressure 1s found to be 1.5 atm. Assuming ideal
gas behaviour. the ratio of molar masses of Aand B1s :

25°C S5¢§ #rdgo DS arid0) ©°8 2g © Ao o8 57030 HTT) HBI0HVHINYE o7
adSo latm 8 &S, DESo 3¢ o708 3geo Bud 5188 sosn dHorgd) DS,
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Options:
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What volume (in mL) of HCI solution containing 73 g per litre is required to completely
neutralise sodium hydroxide solution. obtained by allowing 0.46 g of metallic sodium to
actupon water?

0.46 g 5% FRoHod LS SEgTohoNdHd ©Hod FGoNo TTEHE |THD)
Jron SLQEbome%d, HLmsr 73 g HCl Ao |78 8505700 (ML ©e5°) dos?

Options:

30
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A gas absorbs 100 J of heat and is simultaneously compressed by a constant external pressure
of 1.5 atm from a volume of 8.0L to 2.0L. The change in internal energy for the gas in
Joules1s (1L - atm=101.32 1)

2.8 aing 100 J &god (frod, Esodod O erirgaddo 1.5 etrppyohdm
&) ?ﬁoirc‘ég@fﬁoﬁjoaeﬁa’gd} P8 pSH0Sredn 8.0L Hod 2.0L & SA5S, od

b
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Options:
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At T(K). 3 moles of hydrogen and 1 mole of N, are allowed to react to form ammonia.
When 1 mole of ammonia is formed. the total pressure in the vessel 1s 15 atm. The partial
pressure of N, in the vessel (in atm) 1s

T(K) 3¢ 3 drdo @, 1 306 N, 0 $65F0H008: 8 &dmdoss bcﬁn\j@s_.m&.

1 3r6 NH, 26)a8Hk rE@es® Ingo addo 15 atm wond, rges® N, 2§ addo

(
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Options:
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When 200 mL solution of HCI of pH = 2 i1s mixed with 300 mL solution of NaOH of
pH = 12, the pH of resulting solution is (log2=10.3)

200 mL & pH=2#e HCl|@sSesr) 300 mL © pH= 12 ey NaOH (@°5:008° §80, 50
S0 pH 2end (log2 =0.3)

Options:
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11.3
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W —— .
How many millilitres of 3% { o= ] H, O, solution is required to get 150 mL of oxygen at

STP?

W )
STP5¢ 150 mL © 8§33 2r06erds8 JQ) MHOHdLg 3% {?J H,0, 9556558087

Options:

, 10

20

5, 20
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Gypsum is added to clinker during cement manufacture to

D08 dairdrilotndaydy 80868 By Swotdy 5700
Options:
decrease the rate of setting of cement

1 Doty oA IS edddo §Ho



bind the particles of calcium silicate

59000 DOBE Serrodd woHowWLIS

facilitate the formation of colloidal gel
FPerondd BS 6y §O

to get the fine powder

DS PRI Fododrdo
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The correct order of first 1onisation enthalpy of group-13 elements 1s

(rH-13 Soresod® 306 9BHNIBAS 05 IO SEHED00

L+

Options:

' B > Ga>TI

B >TI>Ga

Ga>B>TI

; Tl > Ga >B
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Identify the incorrect statement

&35y D580 HBoSok.
Options:
CO 1s used in the manufacture of Urea

1 CO & cHrdosr Sosres &HBrHTE

Quartz 1s used as a piezoelectric material

53358 2 DS Hrdor GHBEATD



Silicones are used as electrical insulators

DOFIDD DEZSE 0T HBIATG

ZSM-5 1s used to convert alcohols directly into gasoline

ZSM-5 & e Fdelh IHm mPFOIT Sr&EIs #IDBrHTdm
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Identify the correct statements from the following
a) BOD value of clean water 1s less than 5 ppm

b) Oxidation of ethene in the presence of Pd*™ catalyst in aqueous medium gives
acetic acid

¢) Photochemical smog causes damage to plant life
d) Reducing smogis a nixture of smoke. fog and SO,

Bod 7565 HBFS DS HBoSod

a)  HGS o A¢3 BOD dend 5 ppm §08 S8, 5 ¢r0008

b) #43, 2odrdgsoos® Pd?t wosrag ﬁr@&fﬁéo D0Fo® IDEIF esHHoABY06
C) 508 Srofs Ff s B5°08 o $30 IvESlelA)

d) SoorEde o, &, S0P 0o SO, o AES0

Options:

| a.b.c

i b.c.d

a.c.d
3.

a.b.d

4.
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The formulae of ammonium phosphomolybdate (X) and the compound (T) responsible for
Prussian blue colour

© 3 V0%00 é‘}ﬂéﬁﬁq}ﬁ?@?ﬁﬁ (X) S0dos» D9gS er SoiHE s°¥add F’:m;i'aésféo (D) o
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Options:



X ¥

(NH, ), PO, -12Mo0O;, Fe, [Ff{CN_}ﬁL XH,0
l.
X Y
(NH,), PO; -12MoO; Fey| Fe(CN); |, -XH,0
X X
(NH,), PO5 -12Mo0;, Fes| Fe(CN), | -XH,0
3.
X X
(NH, ), PO, -12Mo0; Fes| Fe(CN), | -XH,0
, :
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Ethylene on reaction with Baeyer’s reagent gives the compound A. In the preparation of
co-polymer X. compound A is used as monomer. What 1s X?

DHOI, B 5°CE0F FEgTohH A @i HopEdodH ad)d. FrdHs X Sairis’
A 53)FE505 IrSHHmr eIDraTnh? X 962

Options:
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Meta directing groups among the following are
Sod o8S* Todr JPFE SHoriren

—CN —COR —NHCOR —-SO;H  -OCH;
(a) (b) (c) (d) (e)

Options:

a.b.d

b.c.d
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i h.¢.d
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b.t.d e

4
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Which one of the following statements 1s correct?

-

§oh IS0 I8 HOFDSH?

Options:

The unit cell lengths of a lattice are a. b and c. The angle between b and c 15 p.

w8 rofo BwE) chrddl S PEHen a. bododn ¢ wond bSodoin ¢ o Sy
S0 P

A metal (M) crystallizes in bee lattice. The number of atoms of M per unit cell is 2
2.8 550 (M) bec zmergoe5® Eﬁuﬁéﬁgédeao Botoh. w8 chrddl ES® ) M
HESreHe Dopg 2

L2

Si1C 1s an 1onic solid

SIC, &8 «airds D&SHogan



For triclinic lattice. the angles have the following relationship
©deg (triclinic) erestd§, Soren $ob Howorrd) DA €rotrron.
Question Number : 140 Question Id : 1017173820 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

What is the molar mass (in g mol™!) of a substance. which forms a 7% by mass solution in
Water, Which freezes at —0.93°C? (K ;0f H,0 = 1.86 K kg mol™)

7% (335073 fio Hord aeoErssao —0.93°C S¢S oREIS50 BohSS, s ﬁ@cﬁf_o Jrerd
835078 (zmol™ ©e5%) Jo=? (He58 Ke=1.86 K kg mol™)

Options:

’ 140.4

150.5
160.6

155.5

Question Number : 141 Question 1d : 1017173821 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : The vapour pressure of 0. 1M sugar solution 1s less than that of 0. 1M KCl1
solution

Reason(R):  Lowering of vapour pressure is directly proportional to the number of
particles of non-volatile solute present in the solution

dgo (A): 0.1IM Hosers (@d0 B0, erdyaddo, 0.1IM KCl @rse)) erdyadso
08 £83,5.

sdmo (R): 0 Ay ddo (@ S00tHE) ward)Rd (PdE e Hopgs
wdoeTardoaradoes® €rotnod.

The correct answer 1s

DAY HSrardSw:
Options:



Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(A) S8030 (R) o0 Bod> 5050 So8asn (A) % (R) #3508 2568

Both (A) and (R) are correct and (R) 1s not the correct explanation of (A)

(A) So8030 (R) o0 Bodor D080 308030 (A) 8 (R) D85 25820 5765

-2

(A) 1s correct but (R) 1s not correct
(A) 5858 572 (R) 9088 57

(A) 1s not correct but (R) 1s correct

(A) 5958 5° 50 (R) 5056
4,

Question Number : 142 Question Id : 1017173822 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For a reaction. A +2B #A{z;qfr 2B K, is 1012 at 25 °C. The E°(,; of the
corresponding cell is (F = 96500 C mol™!)

s, 42
AT +2Bg,

g
(e (2283

Ay + 2B
w3 IG5 25 °C 3¢ K, dens 1012, wonds® 902088 306008 E°gu0 D003

Options:

; 0.708V

Question Number : 143 Question 1d : 1017173823 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



The rate constant of a first order reaction is 6.909 min™'. So the time required for the
completion of 75% of the same reaction in minutes is

2.8 PO ESrosssy B Horoso 6.909 H71 wd $8g 75% rh SHErdS HEso0
Qdaarerest

Options:

2
—log2

Question Number : 144 Question Id : 1017173824 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Identify the correct statement (s) from the following
a)  Protective power of a Iyophilic sol is more if its gold number 1s more

b) Inthe coagulation of negative sols. the coagulating power of cations follow the order
Nat>Ba?*> APt

¢) Cloudisa solid in gas type of colloid
d)  Physical adsorption 1s non-specific and multilayered at high pressure.

8ol arides® HBE@oN Do HBowSD

a) (BS@od FrSs G HBopg whHsom &0l TP HVEE TB0gg0 D85S

b) awerdzs S ©,08508° soirde §,0658 FHdgo oo Na*>Ba® > AP*
C) hdo @3d TINHS* DIHFdo o Feronsd

d) 88 955005 IS Godcd. ©HE DESO S wITVTFTOIT o’

Options:

1

L2

a.c.d
~a.d

d
b



Question Number : 145 Question Id : 1017173825 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
Match the following:
List-1

A)  ALO;+2NaOH+3H,0 — 2Na| Al(OH), |

B) Ni(CO),—==>Ni+4CO

C) Fe,0;-3H,0—2->Fe,0,+3H,0
D) 2PbS+30, — 2Pb0O+2S0,

8o T80 2EBGWBD

erfe - |
A)  ALO, +2NaOH+3H,0 — 2Na | Al(OH), |
B) Ni(CO),—2%C ,Ni+4CO
0) .P6203-3H20L>FE203+3H20

D) 2PbS+30, — 2PbO+2S0,

The correct answer 1s

Eﬁ@@ufé Jarorso

Options:
A B C D
Vv I il I

1:
A B C D
I I A% Vv
A B & D

; v I I I
A B C D
I i \Y I

110)

V)

V)

List-1I

Roasting

Calcination

Vapour phase refining

Electrolysis

Leaching

erdie - 1
S0
&3
ej?aéécieao
EHY N0

éjciygﬁib{ﬁ;’lmo

NSEEH0



Question Number : 146 Question Id : 1017173826 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The correct order of boiling points of hydrides of 15® group elements is

155 1573 Soreste) TREE ernGSS ore H6GS ES5n
ises) oIl r S

Options:

PH, < AsH, < NH, < SbH, < BiH,

PH, < AsH, < SbH, <NH, < BiH,
PH; < AsH, < SbH; <BiH, <NH

BiH, < SbH, < AsH, <PH, < NH,
4

Question Number : 147 Question Id : 1017173827 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Among the oxyacids of chlorine. the order of acidic character is

§05 @wy), sdesdres® e Bers (Esm

Options:

HCIO, < HCIO; < HCIO, < HOCI

HOC! < HCIO, < HCIO, < HCIO,

-2

HCIO, < HCIO < HCIO, < HCIO,

HCIO, < HCIO, < HOC! < HCIO,
4,

Question Number : 148 Question Id : 1017173828 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

The catalysts commonly used in contact process and Deacon’s process are respectively

s 0tr§ ;ﬁ%ﬁ;é’é— 5080350 GED ;’Jgéﬁi rrrdonr &4Na3rAoD ﬁr@gd?m SEBMm
Options:

- V,0;. Fe,0,



i VJ 05 G l2

CuCl, . MnO,
3 % o

MnQO, . Fe, O,
4. - -

Question Number : 149 Question Id : 1017173829 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The hybridisation of Ni, shape and number of unpaired electrons present in| NiCl, ]2 ~are

respectively

[NiCl4]2_eE?°5 N1 H0868605, 58 S08050 2,088 ae_vﬁjﬁa Howg SEDA
Options:

sp. tetrahedral. 2
1 Sp?, BTG, 2

dsp?. tetrahedral. 2
dsp?, Bigr . 2

L2

sp?. tetrahedral. 1
sp3, B s, 1
3

sp°. square planar. 2

sp°, dude SEHEBID, 2
4,

Question Number : 150 Question Id : 1017173830 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Which pair of actinides exhibit the highest oxidation state of +77

wEgHE w§Edn Qe +7 % BE0oD wi3se ad b ?

Options:

U&Np
Np&Pu

l

U & Pu



. Pu& Am

Question Number : 151 Question Id : 1017173831 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Buna - N 1s a co-polymer of 1, 3-Butadiene and X. Whatis X ?

2orgd - N edodd 1, 3-argirdornrs ook X @ng) §ardind. X 287
Options:
CH, :{fH
1 (N
CH, ZCI.‘H
. Cl
CH,= ICI“H
CHs
3.
CH,= C{H
CH,
4, )

Question Number : 152 Question Id : 1017173832 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

b —D —(+)— Glucopyranose is

B—D— (P —Hr&poss

Options:
 —
HO——H
H—"—0H
HO——H
H—0OH
H— O




H——OH
H—1—OH
HO——H
H—1—OH
H——0
) CH,OH
S
HO—1—H
HO——H
H—— OH
H—— OH
H— 0
CH,OH
3 =
Sa—
H——OH
H—— COH
HO H
HO—1—H
H— 0
CH,OH
4,

Question Number : 153 Question Id : 1017173833 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify a bacteriostatic (A) and bacteriocidal (B) antibiotic from the following

Boh ari5es® 2 SrfiBdod 6503 (A) Sodbotn wf SrgddHod Ko (B)

oSrotiaaBreiES HdoSod.

Options:
A B
Erythromycin Chloramphenicol

aﬁ@lslﬁ@fpjﬁ gjﬁ"ﬁﬁ_ﬁl II":L_-JETF_'T:'_



A B

Ofloxacin Tetracycline
LS BEpES
A B
Chloramphenicol Norethindrone
o0 adstS TORHIE D
5 B
A B
Tetracycline Ofloxacin
S 08S A R VS
4, o ol

Question Number : 154 Question Id : 1017173834 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following is an antihistamine?

§od Te365° OSroSirRAd AB?

Options:

N CHCL,
02};—@— CH-CH-CH,OH

OH

ww
OH

HO
Ph



NH,
N
H

Question Number : 155 Question 1d : 1017173835 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following are vinyl chlorides?

3 - chlorocyclohexene 1 - chlorocyclohexene 4 - chlorobut - 1 - ene
(a) (b) ()

1 - chloroethene 3 - chlorobut - 1 - yne 3 -chloro - 2 - methyl propene
(d) (e) ®

808 ehes* HJS §BGed 2

3 -§605783 1 - 862883 4-§6mgT - 1- &3
(a) (b) (c)
1 -§6565 3-§6°mgs - 1- 05 3-86 -2-235@H3
(d) (e) ()
Options:
ol
l.
8 f
b.d
3
af
4,

Question Number : 156 Question Id : 1017173836 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What are X and Y in the following reaction?
8o S6ge* X So0050 Yeo 23?

R-OH +PCl; ->X+Y +HCI

Options:



X b

R - OCI PCl,
1.
X ¥,
R-Cl POCI,
X X
R-0O-R POCI,
3
X %
R-Cl P(OH);
4,

Question Number : 157 Question Id : 1017173837 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following reactions involve the carbon-carbon bond formation?

808 D TGS STHI-THAD VOSSN JGYEK?
& o

Options:
Hydroboration - Oxidation of alkenes

wd) & IPES0AS - w§¥800

Cannizaro reaction

Blerg ﬁuﬁg

L2

Reimer - Tiemann reaction

306 - 8505 S8y

Stephen reaction

2

J

-
o

s

ﬁ’fﬁg

Question Number : 158 Question 1d : 1017173838 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Which one of the following is not formed by aldol condensation of a mixture of ethanal
and propanal?

QES H005» @PHorde NEFD wepd HoNHS0s” IAED 5o A6?
Options:
2 - Methylpent-2-enal

5, ﬂ}@@iméﬁ-ﬁ-ﬁa a5

But-2-enal
3135-&5 2-Bgre

Pent-2-enal

085-2-& g6

Hex-3-enal
r8y-3-BaS

Question Number : 159 Question Id : 1017173839 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



What are X and Y in the following reactions?

COOH
Conc HNO; + g
E’I} Conc H,50, > X
i)BI'L.'JRE'dP T
b) R — CHZ —COOH D H,0 5 Y
8ob SEgoe® X 500050 Yen 28?
a) COOH
& HNO; + X
i H,S0,
1)Bn, /AP
b) R_CHZ —COOH i) H,0 >Y
Options:
= Y
0,N COOH
Q/ R -CH,-COBr
NO,
. 2
s Y
O,N COOH
_ R—CH-COBr
Br
B NO,
x '
COOH
Q’ R - CH,— COBr
NO,

=



R— Cl‘ H-COOH
Br
NO,

Question Number : 160 Question Id : 1017173840 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Arrange the following in the order of their basic strength

808 7780 g6 woEdos” whdodk

NH, el
NH; B
NO,
NH,
NO, NO,
(a) (b) (¢) (d)
Options:
az=e>b>d
l.
c>b>a>d
d>a>b>c
3.
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